





e g PARTS INCLUDED

M4x12

)

Flush surface installation: Install 4 screws through faceplate to monitor
via mounting holes.

6 =
M4x30
13X5.5X16.5
/ N\
«m«««, %ﬂm@
I ———— A M4x12 (x4) M4x30 (x4)
% %
S=3mm(x1) S=5mm (x1)
. %
|
Y . ]
Recessed surface installation: Put 4 spacers between faceplate and 13X5.5X16.5 (x4)

monitor. Install 4 screws through faceplate, spacers to monitor via
mounting holes.

— 05 — — 02 —



.

)

Loosen clamp screw until enough space is left for the edge of the desk.

Tighten clamp using clamp screw until mount is securely fastened to desk.

If space is still not enough for clamp,remove clamp screw and attachment
entirely and reattach clamp screw with attachment upside-down.

)

Adjust locating ring at proper height and screw up tight to hold the mount.




